AZER] EFH28FEELYTE

(B FH)
XEHE & TH28FEELUMFE TRH27TEELDTFE | BEE
(%)
— #if = &t 10,774,200 10,843,400 A 0.6
B oAl = Bt 4,875,600 4,898,700 A 05
EREEREER=E 2,835,600 2,793,700 15
B ZKERA=E 74,400 86,900 A 144
BREZEEHIRE 7,300 7,300 0.0
TKEHFRI=E 1,038,600 1,090,500 A48
EEEEKIFENRE 278,800 285,400 A 23
IS EHEERSASE 640,900 634,900 0.9
& &t 15,649,800 15,742,100 A 0.6
[—H=Et mAl
(B FH)
TR 284 E TR27FE
=X Al LYTFHERE | BR | BUFEE | BEH | BEE
(%) (%) (%)
1 HT i 3,226,740 29.9 3,166,340 29.2 1.9
2 M #H & 5 F 146,000 1.4 148,000 1.4 A 14
3 ® F B X {F & 5,400 0.0 6,800 01| A 206
4 B 5 B X & £ 5,800 0.1 3,000 0.0 93.3
5 BAFEREMGIXRMGE 6,500 0.1 3,000 0.0 116.7
6 M A HE B KX F & 400,000 3.7 370,600 34 7.9
7 OJLOBFARRXAE 1,100 0.0 1,100 0.0 0.0
8 BEEMEGEHRI & 21,000 0.2 28,000 03] A 250
9 M AH B Hl X & & 9,000 0.1 9,000 0.1 0.0
10 #h F =X & 2,490,000 23.1 2,470,000 22.8 0.8
11 XBEERKHIRGE 3,400 0.0 3,600 0.0 A 56
12 K £ RV EESE 995 0.0 922 0.0 7.9
13 #F AME &R U F 8 H 275,644 2.6 318,424 29| A 134
14 B B X H £ 902,187 8.4 1,054,486 9.7 A 144
15 & * s & 774,908 7.2 797,142 7.4 A28
16 B B IR A 15,686 0.1 14,415 0.1 8.8
17 & Bt g 7,000 0.1 2,500 0.0 180.0
18 #2 A s 960,665 8.9 883,907 8.2 8.7
19 #& i g 10,000 0.1 10,000 0.1 0.0
20 _F IR A 493,875 4.6 457,464 4.2 8.0
21 M & 1,018,300 9.4 1,094,700 10.1 A 7.0
a E 10,774,200 100.0 10,843,400 100.0 A 0.6




(—f&=Et mHi]

AZER] EFH28FEELYTE

(B4 FH)
TR28EE FRR27EE

£ Al LUTFTHEEE | B | ZFTEE | B | BEE
(%) (%) (%)
1 B =S 1 133,791 1.2 146,479 1.4 A 87
2 % % & 1,450,752 135 1,272,918 117 14.0
3 R 4 1 2,841,267 26.4 2,601,463 24.0 9.2
4 f& 4 1 879,721 8.2 959,299 8.8 A 83
5 % & =1 29,792 0.3 30,249 0.3 A 15
6 & & K E %X & 735,913 6.8 786,139 7.3 A 64
7 & & 617,538 5.7 681,545 6.3 A 94
8 £ S & 1,386,018 12.9 1,479,007 13.6 A 6.3
9 iH 3] Z 319,050 3.0 335,583 3.1 A 49
10 #% B & 1,017,833 9.4 1,248,228 115 A 185
11 K EFEE B F £ & 2,000 0.0 2,000 0.0 0.0
12 2 & & 1,330,525 12.3 1,270,490 11.7 4.7
13 % i & 30,000 0.3 30,000 0.3 0.0
= E 10,774,200 100.0 10,843,400 100.0 A 0.6




